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6. Rivet (Chap. 6.6)

Bong-Kee Lee
School of Mechanical Engineering
Chonnam National University

Strength

o 2

241} 20| WEH0| BHS 0|2 Ay
- TAHOl 2 E5t= Y S = 2|8l HEE + (T Af

olo| Op&tal)
- W: 8 T/ X| o] TLZH0A

Mechanical Design I



w w w

LS T e T V4
Sdr Sd? Sdr 18-%4?

I 4 4 I 4 4

N TN TN N

N N
w— VP - ] B ] R —
€ S-S B BE P S
S " S S

—y =t

e =
=
2
(@) pe Helg (b) 5 EEd

Mechanical Design I School of Mechanical Engineering

Strength

= = — H
o = = o O 5|2 "HEOS
-(7F8) &2 =9l glHlE2 Z2 2= ¢H2
7 = = o O HIoO
- HZ & Zo| g|8lIo| 7tE 2 MEZEHE 3
w
T, = p-
Z-a =d’
4
T, T, 24ie| 2lule| iz Alel BHZEZ0 2= B0 | o e
= Sals|= @RSl ciet .,
gz| * | 2| ®]|2]5]|C ZEHE (2] i
i 2 o5 |05 - - - - 0 10
3 033 |0264 | 0368 - - - 11 0,906
: T W WL W 4 0207 (0193 | 0183 | 0307 - - 23 0814
W — ,
%\)@\Jﬁiﬁv&—’ W 5 |022 |0163 | 0130 | 0163 | 0.272 - 36 0735
6 0247 (0147 | 0106 | 0106 | 0.147 | 0.247 48 0675

Mechanical Design I




Strength

= o
-0 & 2|8 O30 M HEH Z =
- CHE FHIe Te Fe

- E SO YBe we

e -
—
Wy - R AR
. WL W WY T st U"—@@@@ !
W e Tl T E&_-—u & = 1) ~ W
RIE AN N TN (S E AT R
(a) BFEHT L2 42 ib) BEH =07 22 AR o) BEA =02 e A4S

Mechanical Design I School of Mechanical Engineering [R5 ¥

Strength

n E|I:HI o|29_| J_|_|-J—_|| 'c‘sdEH
__|_L|-E|- AlI‘lo 7|
EI

HH
HU
rot
olo
i
Bl
I
i
N
o

: ! e
fw bw fw
(a) A (b) He Ee (c) ®E A (d) B =2

Mechanical Design I c f Mechanical Engineering [RES#



Strength

= 2|8l O|Z2f mti| HE|
-2 Mo
* O|X[(p) > 2|8l X|E(d)

- To| Mt
* O X|(p) < 2|8 X|Z(d)

t@WZGt(p*d)l

School of Mechanical Engineering I

Mechanical Design I

Strength

" E| 9 0| 29| mu| HE|
_ _'EL I—l H

- hEE0l Se B

bending moment : M, =

— bending stress: o, = —2—" [
g T »

REOE G

School of Mechanical Engineering I J

Mechanical Design I



Strength

= 2|8 O] =2 mbu| HEy
— LA Rf =ty
R e

rlo
N

Mechanical Design I School of Mechanical Engineering

Strength

- 2|81 0|20 MH: 3t = 0]
- 2|8lo| MEHE (X et EHRY 2
A
—(2|8le] T M) ~ (B2l 2 X
- 2|8l X|E(d)2=28H OX|(p)E 24

T w
L= oSW=r, ?-—dzj o,=——W=0o/(p-d)
- T‘[f‘ 4 (p—a) (=)

Mechanical Design I T



Strength

- 28l o|ge| 27 ¢ = 0|5
— (/8o M M) ~ (EHE B M)
- ORIol 27|08 2

= = O
w V4 —dV
T, = QW:Ts[.f;'idzj Oy, = SWd 2 ©W=O'},'t(2e d)
L 4 H(2¢-d) 3d
JSs 4
V4 t2e—dYy
=7 .7d2 =0, —
f[fs 4 ) " 3d

3
—Se=—+ 3wt f, _d 1+ 3z, f,
2 2\ 4o, 2 4to,

Mechanical Design I

School of Mechanical Engineering I,

Strength

= o|8l o|F2f A ¢t & Ol=
—(2[8le] MEH XM ~ (TH 2= XY
- TR FH O 2[4 XIS(d) Ato|2] 2

T, = w SW=r. f,zdz o, =— W:O'C-(bd)
s z s\ sy td
fyzd

dto
=>Ts[fs%dzj=cn'(t~d) f =10, =21, >d="1%

e % 2.55¢
VAR
g o, d<255t — Yol AE ~ T =
7, f d>255 — ool AT ~FAEAE

Mechanical Design I




Strength

- 2|80 A&ot= 20| 7ty 2 BF2FSAEl & F)2
dEE7IELR 47
w

Mechanical Design I 8 rj

Efficiency

“ Z|8 0|52 2E
—7|F: 28 Y0l Gle Tl B L
—€2 88 ~ FOU ok30| ALl Z2=7t 2

0jo

- 2A4: 28] 2&(y ~ TSl 2&0y)

Mechanical Design I School of Mechanical Engineering



Efficiency

- B FHO| gls o AZ L) 28 THO| A=
ol gdT)el H
— 2| FYO| s O] AE =+ U= olE2 =
w

Mechanical Design I i {’E

Efficiency

- 28
- (2% 7O gl mo| AT )t (2|He] MEZE)
of H|

Mechanical Design I 4 r’—:iu_,s



Efficiency

1y =1, +1,
-n. 2Rl =7t JHE B2 FoMe H 25
-ny 2Rl =7t 7HE HE2 Fo|Me 28l 25

o
(A

Mechanical Design I School of Mechanical Engineering

Efficiency

(@) = O
= 2|8l 0|22 2=
_xst 58
i ™~ ' o, (Epfdjt lp—d
5 ? ==
\ri o F O-t(ipjt Ep
ST
Lo LEo)e g ()
| | 2T t)o, t
\ité;ﬁ:‘ (pt)o, (pt)o
~
V2| Z
= S
Ny 4
Ny

Mechanical Design I School of Mechanical Engineering

J ¥



Efficiency

z

?
BN

i | (%d2j~rs~2(ﬂ)k [%dz)r_\.l.s

N ‘ i n,'= k=1 —
iu\%;’ (pt)o, (pt)o,
i
Pl
L A
R 3
\% A
‘e

(b) 5 THH 05

= &

Mechanical Design I School of Mechanical Engineering

Examples

= 6-1

o
(A

- 2|8l S EF L E(1,) 4lkgy/mm?], X|E(d) 12[mm], 1
= 4X|7| 2|8io|&

e 5= 6[tonf]

« 4k Z(b) 800[mm], F7|(t) 10mm
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= 6-4
- 2|8I0|&: &FZ HUHE 2F S 7|, L[X|(p) 96[mm]
- 2|8l S EHEL E(1,) 4lkg/mm?], X|E(d) 12[mm]
o I 58 QE L = (o 5kg/mm?], FH|(t) 16mm

=P 96722 9908 - 77.08[%]
p 96
T & T
242 a2t xax(1.8+18)
7= = _4 ~0.7127 = 71.27[%]

pto, 96x16x5

a

=n=n,=7127[%]
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